

$$\frac{m}{3} = y \rightarrow y = \frac{m}{3}$$

$$\frac{(x+a)}{y} = \frac{\sqrt{a+1}}{r} \rightarrow \frac{x+a}{y} = \frac{\sqrt{a+1}}{r} \rightarrow \frac{a}{y} = \frac{\sqrt{a+1}}{r} - \frac{x}{r} \rightarrow \frac{a}{y} = \frac{\sqrt{a+1}}{r} - \frac{x}{r}$$

$$\rightarrow \frac{a}{z} \times \frac{a}{z} = \frac{r\sqrt{a} - r^2}{z} \rightarrow \frac{(n+a)y}{ny} \rightarrow \frac{n+a}{n} \rightarrow 1 + \frac{a}{n} = 1 + \frac{r\sqrt{a} - r^2}{z} = \frac{r\sqrt{a} + r}{z}$$


 $d = \sqrt{m^2 + y^2}$

$$\frac{d}{n} = \frac{\sqrt{\omega+1}}{r} \rightarrow \frac{\sqrt{\lambda^2 y^2}}{n} = \frac{\sqrt{\omega+1}}{r} \xrightarrow{\text{Pol\'en}} \frac{\cancel{n} \sqrt{y^2}}{\cancel{n}} = \frac{\sqrt{y^2}}{r} \rightarrow 1 + \left(\frac{y}{n}\right)^2 = \frac{r^2 + \omega}{r^2}$$

$$\left(\frac{y}{x}\right)^p = \frac{4 + \sqrt{5}}{4} - 1 = \frac{4\sqrt{5}}{4} \xrightarrow{\text{cancel}} \left(\frac{y}{x}\right)^p = \frac{\sqrt{5}-1}{4}$$

$$\sqrt{y_a^2 + \varepsilon_a} = y_{-M_a} \xrightarrow{\text{Taylor}} y_a^2 + \varepsilon_a = \varepsilon + 2a^2 - 1\varepsilon_a \rightarrow a^2 - 1\varepsilon_a + \varepsilon =$$

$\rightarrow (Va + \epsilon)(Va - \epsilon) =$

$$\left(\frac{dA}{a}\right) \rightarrow 1 + \frac{1}{a} \Rightarrow 1 + \frac{v}{r} = \frac{1}{r} = \epsilon_1 a$$

$$\frac{\sqrt[n]{a+1} - \sqrt[n]{n-1}}{a-n+1} - \frac{\sqrt[n]{n-1} + \sqrt[n]{a+1}}{a-n+1} = \frac{-\sqrt[n]{n-1}}{10-n} \Rightarrow \frac{-\sqrt[n]{n-1}}{10-n} \xrightarrow{(n+1)(n-1)} = \frac{n-1}{\sqrt[n]{n-1}}$$

$$-r\sqrt{n-1}(\sqrt{n}-1) = (n-1)(10-n) \rightarrow -r(n-1)\sqrt{n+1} = (n-1)(10-n)$$

$\rightarrow 3m^2 + 4m - 10 = 0$ $\Rightarrow \frac{-4 \pm \sqrt{16 + 120}}{6}$ $n=1 \rightarrow \frac{-4 + \sqrt{136}}{6}$

$$\frac{p - \sqrt{p-m}}{p+m} - \frac{p + \sqrt{p-m}}{p+m} = \frac{-2\sqrt{p-m}}{p+m} = \frac{p-m}{\sqrt{p-m}} \rightarrow \varepsilon - m^2 = -\log(p-m)$$

$$n^2 + 10n - 4 = 0 \rightarrow (n+1)(n+17) = 0 \rightarrow n = -1 \text{ or } n = -17$$

$$-\frac{1}{q} (\epsilon m - \mu) (f m - 1) (m^2 - 10m - 3) = 0 \rightarrow m = \frac{\mu}{\epsilon}, \frac{1}{\epsilon}, 1$$

$$\frac{1}{\epsilon} + \frac{\mu}{\epsilon} + 1 = 2$$

$$\Rightarrow \sqrt{\epsilon + \sqrt{(\epsilon^2 + \epsilon(\epsilon^2) + (\epsilon^2 + \epsilon) - 10)}} + \sqrt{\epsilon^2 + \sqrt{-\epsilon^2 + (4\epsilon^2) - 1}} = \epsilon^2 \textcircled{9}$$

$$AB = \sqrt{(1+\epsilon)^2 + (\omega - v)^2} = 1\sqrt{10}$$

$\rightarrow n = 14$ $\rightarrow$ کھربوز
 $\rightarrow m = -\omega$ $\rightarrow$ پتھری ۱۴
 ساعت ۱۱ بار ۱۶ بار ۱۷ بار